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Directions for Question Nos. 11 to 14 : Replace the underlined word/words with a phrasal
verb, out of the four choices, in each question.

11. We began the journey at dawn. .
(A) pick up (B) make off
(C) set off (D) set up
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12.

13.

14,

I wanted to find out exactly where Kanpur was and so I Jooked at an atlas to find some
information. _

(A) looked up (B) looked into

(C) looked on B (D) looked after

We simply cannot understand and remember all the information that the teacher gives in

one lecture.

(A) put up ' (B) talk round

(C) call ot (D) take in

The head of department is on study leave and her deputy is taking her place temporarily.
{A) putting up with ' (B) lasting out

(C) standing in for (D) taking up

Directions for Question Nos. 15 to 17 : Choose the correct meaning of the expression out of the

four choices given in each question :

15. A person whose emotional disorder is reflected in imaginary bodily ailments :
(A) Martinet (B) Vulnerable
(C) Hypochondriac D) Virago
16. A strict disciplinarian :
(A) Martinet (B) Trenchant
{C) Turbid : (D) Chauvinist
17. A dabbler in the arts :
(A) Aesthete : (B) Dilettante
(C) Sycophant ‘ (D) Artist
Directions for Question Nos. 18 to 20 : Choosc the opposites of the words given in the questions that
follow. | |
18. Titillate
{A) bore (B) excite
(C) shine (D) seduce
19. Sedulous '
{A) Nonchalant ' (B) Careful
(C) Painstaking : ' (D) Strict
20. Purgatory
(A) Hell L . . (B) Paradjse
(C) Limbo (D) Infemo
21. Three nationalised public sector banks have joined hands with India Infrastructure Finance

Co. Ltd. (IIFCL) for funding large infrastructure funds. The bank not including in this race

is: O . _
(A) Canara Bank . (B) Punjab National Bank
(C) Syndicate Bank (D) Vijaya Bank
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22.

23.

24.

26.

217.

28.

29.

30.

Aam Admi Bima Yojana’ is an insurance scheme for rural landlcss houscholds executed by
the nodal agency : '

(A) National Insurance Co. (B) State Government

(C) LIC , . (D) Central Government
Which is NOT an international arbitration authdrity? | "
(A) International Court of Arbitration ' (B) Intér—American Commercial Arbitration
Commission
-(C) .Canadian-American Commercial (D) International Commercial Arbitration
Arbitration Commission Commission '

Siemens and Motorola combined to make what?

(A) semiconductor ' (B) keyboard |
(O) digital t¢levisions . (D) camera cell phones

. Which of the following is /are not the constituent sector(s) of the Gross Domestic Product

(GDP) of India ?
(1) Agriculture & allied activities -
(2) Foreign Exchange Reserve

(3) Industry

(A) Only 1 (ByAll 1,2 &3

(C) Only 3 {(D)Both 1 &2

The capitals of the new States Chhattisgarh, Jharkhand and Uttaranchal are :

(A) Raipur, Ranchi, Dehradun (B) Ranchi, Patna, Nainital

(C) Raniganj, Patna, Dehradun (D) Patna, Raipur, Nainital

The minimum expenditure is incurred by implements for sowing seeds among the following :

(A) Deshi plough (B) Cultivator

(C) Dibbler _ : (D) Seed-drill

The monsoon airs in the country reaches at which bank first of all ?

(A) Coastal region of Orissa (B) Bay of Bengal region

(C) Coastal region of Kerala of South (D) Kachchh region of Gujarat
Indian region

At present for the ATMs in India, the most commonly used net-work communication mode
is . ' ’ -

(A) Very Small Aperture Terminal (VSAT) (B) General Packet Radio Ser-vice (GPRS)

(C) Code Division Multiple Access (CDMA) (D) Dial-in Connection ' ol

Who has authored the latest business best-seller ‘Big Brands, Big Trouble’ ?

(A) AlRies (B) Laura Ries

(C) Naomi (D) Jack Trout
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31.

32.

33.

34,
3.
36.
| _ 37.

38.

Import substitution ,

(A) involves substituting one product for another in cross-border trade.

(B) involves new domestic industries producing goods that were formerly imported.

(C) is a source of constant irritation to consumers.

(D) can be corrected with proper border controls and customs documentation.

Which of these represent a major weakness of the WTO?

(A) No members ever agree on any issues.

(B) It has power over IMF but not the World Bank.

(C) The desire of some of its members to introduce “social causes” into trade decisions.

(D) Inability of WTO to reduce the tariff barriers evidenced by unprecedented high tariff levels
today in the world markets between nations.

Which of the following statements is false?

(A) Import controls effectively lower prices for consumers.

(B) Import controls may cause the downstream composition of imports to change.

(C) Import controls may cause an industry to lag behind in technological developments.

(D) Import controls may mean the most efficient sources of supply are not available.

Which District of Punjab has lowest literacy rate? '

{A) Patiala (B) Moga

(C) Khanna - (D) Mansa
Gurmukhi was standardized by ? o

(A) Guru Nanak Dev ' (B) Guru Angad Dev
(C) Guru Teg Bahadur (D) Guru Gobind Singh
Which is the biggest District of Punjab?

(A) Fatehgarh Sahib : (B) Mansa

(C) Morinda o (D) Ferozepur

How many Parliamentary constituencies in Punjab?

(A) 14 - (B) 13

(C) 16 (D) 17

Which of the following statement(s) reflects India’s stand on new World Trade Organization’s

proposal on the issue of the subsidy to agro products ?

(1) India would protect the interest of its poor farmers who can not bear the burden of the
cost of the products if they have to sell them on cheaper rate.

(2) Indian industry needs more flexibility as compared to the industry in developed countries.

(3) WTO has set up a new committee under the chairmanship of Putin of Russia to look into
the issue of subsidy and find out a solution to the problem acceptable to all the parties.

(A) Only 1 (B) Only2

(C) Only 3 : (D)Both 1 &2
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39.

40.

41.

42.

43.

44.

The most widely known cartel is

(A) OECD - (B) OPEC

(C) OHIH (D) OEUN
Which is the biggest grain market of Punjab?

(A) Marinda _ (B) Mansa

(C) Kotakapura : (D) Khanna

In the following question, there is a certain relationship between two given words on one side
of : : and one word is given on another side of : : while another word is to be found from the
given alternatives, having the same relation with this word as the words of the given pair
bear. Choose the correct alterpative.

Loin : Prowl : : Bear : ?

(A) Frisk (B) Lumber

(C) Stride ' (D) Bound

Compare the knowledge of persons X, Y, Z, A, B and C in relation to each other.

1. X knews more than A.

2. Y knows as much as B.

3. Z knows less than C.

4. A knows more than Y.

The best knowledge person amongst all is :

(A) X ' BY

(CYA (D) C

Five children were administrated psychological tests to know their intellectual levels. In the
report, psychologists pointed out that the child A is less intelligent than the child B. The
child C is less intelligent than the child D. The child B is less intelligent than the child C and
child A is more intelligent than child E. Which child is most intelligent?

(AYA (B) B

(C)D (DYE

The surprisingly abundant life of the Indian Ocean is confined to the upper layers; the deeper
and especially the bottom waters are devoid of oxygen and are often permeated with hydrogen
sulphide.

The sentence gives the information about

(A) the life of the people near the Indian Ocean.

(B) the reason why life exists in particular water layers.

(C) the reason why oxygen is found in the bottom layers.

(D) the reason why hydrogen sulphide is found in the bottom layers.
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45.

46.

47.

48.

49.

50.

S1.

52.

53.

54.

Complete the sentence with the appropriate word.

Reconstructing the skeletons of extinct species fike dinosaurs is
much patience and effort by paleontologists.

(A) adisheveled (B) an exacting
(C) anascent (D) an aberrant

process that requires

If you are facing north-east and move 10 meter forward ,turn left and move 7.5 meter, then

you are i
(A) north of your initial posit'ion (B) south of your initial position
(C) east of your initial position (D) 12 meter from your initial position

If in a certain language, CHARCOAL is coded as 45164913 and MORALE is coded as
296137, how is the word ALLOCHRE coded in that language ?

(A) 13396873 (B) 16693985

(C) 13394567 (D) 19943785

If it is possible to form a number with the second, the fifth and the eighth digits of the
number 31549786, which is the perfect square of a two-digit even number, which of the
following will be the second digit of that even number ?

(A) 1 (B) 4

()6 D)5

If arranged properly which one of the following is not a river in India.

(A) ANUMAY (B) IHSOK

(C) TABROC (D) ADAMRAN

Aflatoxin is related to Food poisoning in the same way as Histamine is related to
(A)Allergy (B) Headache

(C) Anthrax ~ (D) Inhabited

Find the odd one out

(A) MS-Word (B) Windows XP

(C) Linux (D) DOS

Which of following functions MS-Excel have : (f) SUM (ii) CONCATENATE
(A) Only (1) (B) Only (i1)

(C) None of (i) and (ii) (D) Both (i) and (i1)

Encircle odd one tag of HTML : _

(A) <table> : (B) <tr>

(C) <td> (D) <form>

What is output of following program :
#define sum(x) x+x

void main()

{ printf(*Sum=%d", sum(5)*sum(6)); }

(A) Sum=41 (B) Sum=120

(C) Sum=120 (D) None of these
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53.

56.

57.

58.

59.

60.

61.

62.

63.

RAM stands for _

(A) Random Access Memory : (B) Read Always memdry
(C) Read All memory (D) Read and access Memory
If the sum of # terms of an A.P. is 3n% + 5u then which of its term is 164?
(A) 28 (B) 26

(C) 27 (D) none of these

The equations x + 2y =4 and 2x + y =5 are

(A) inconsistent : (B) consistent

(C) homogeneous ' (D) non-linear

If p and q are roots of the equation x?—px+q=10then

(A)yp=1l,q=-2 - (Byp=0.q=l1
(C)p=-2.9=0 O)p=-2,9=1

If HCF (16, x) = 8 and LCM (16, x) = 48 then the value of x is

(A) 4 (B) 128

(C) 24 (D) 8

If PQ is a tangent drawn from a point P to a circle with centre O and QOR is a diameter of

the circle such that /POR = 120° then OPQ is

(A) 30° (B) 45°

(C) 60° (D) 90°

Which of the following is true?

(A) In most studies the choice of statistical technique by which to analyze the collected data is
crucial for proper interpretation of what was found.

(B) The conclusion of a study typically does not depend on the statistical method used to analyze
the data.

(C) With interval scaling it is correct to say that car A had a scale value rating 6 times as great as
that of car B.

(D) An analyst is interested in determining how the undergraduate grade point averages of students
in the Graduate School of Business and the Law School compare. He should use a statistical
test for related samples.

Under a countries adjust their national economic policies to maintain

their exchange rates within a specific margin around agreed upon, fixed central exchange

rates.
(A) Zone arrangement (B) Target arrangement
(C) EMS arrangement (D) Target-zone arrangement

is a term of price in which the seller covers all costs and risks up to the

point whereby the goods are delivered on the board of the ship.
(A) Free alongside ship (B) Free on board
(C) Cost, insurance, freight (D) Cost and freight
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64.

65.

66.

67.

68.

69.

70.

71.

72,

What type of Global Strategic Alliance is an agreement whereby profits and responsibilities
are assigned to each party according to stipulations in a contract?

(A) Equity (B) Cooperative
(C) Contractual D) bothB&C
‘At what stage are more nutrients essentially required in cereal crops ?
(A) Growth stage of plants (B) Formation of leaves
" (C) Particle initiation (D) Maturity of crops
A Indian exporter could collect its accounts receivable from the Bank of India if the Bank of

India had confirmed the Ietter of credit issued by Citibank, and Citibank, for whatever reason,
failed to honor its letter of credit.

(A) confirmed ' (B) unconfirmed

(C) transferable (D) irrevocable

Which is not basic principle of Agronomy ?

(A) To select appropriate materials for seed & sowing

(B) Management of soil and climate

(C) Appropriate intercropping activities management for crop

(D) Livestock management for agriculture

Which states are the highest and lowest producers of Potato crop ?
(A) Uttar Pradesh and Jharkhand (B) Gujarat and Assam
(C) Uttar Pradesh and Himachal Pradesh (D) Bihar and Kashmir

Which disease is not related to Bajra ?
{A) Green Ear (B) Ergot
(C) Wilt ' (D) Rust

The assessee is charged to income-tax in the assessment year following the previous year :

(A) A non-resident business firm which shipped goods on 1.5.210 at Visakhapatnam Port in
Andhra Pradesh

(B) An employee left India to USA on 1.8.2010 with no intention of relurning

(C) ABC firm which discontinued its business on 1.9.2010

(D) An employee-assessee of a University who worked during 1.4.09 to 30.03.2010

Many Indian companies are taking measures to act more ethically and socially responsible.

One of these ideas should not be on the list. Please isolate it.

(A) develop a code of ethics

(B) teach managers to find the proper ethical responses

(C) give priority to consumer ethical issues over employee ethical issues

(D) establish ethics officers

The policy that has been the most successful in increasing agricultural output in developing

countries is :

{A) mechanisation.

(B) produce-marketing boards.

(C) import substitution.

(D) land reform.
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73.

74.

75.

76.

77.

78.

79.

A global industry is defined as

(A) an industry in which the strategic positions of competitors are fundamentally affected by their
overall global positions

(B) an industry that operates in more than one country and captures R&D, marketing, and other
financial advantages in its costs and reputation.

(C) an industry that operates in more than one country and has a strategic position in many countries

(D) a firm that operates in more than one country and has a sales and marketing staff in those
countries

The input-output analysis is often called as :

(A) Cost-Benefit analysis (B) Value aﬁalysis

(C) Non-pricing analysis (D} Inter-Industry analysis

are systems that unite a company’s major business functiens, such as order

processing, product design, purchasing, and inventory.

(A) Knowledge managements (B) E-businesses

(C) Enterprise resource planning (D) Extranets

Which statement below is correct?

(A) When environment is dynamic, uncertainty is low.

(B) When the environment is unstable, uncertainty is low.

(C) A dynamic environment has more uncertainty than a stable environment.

(D) The stability of the environment does not determine the structure of the firm.

Which of these defines culture?

(A) The set of key values, beliefs, understandings, and norms shared by members of an organization

(B) The ability to speak different languages

(C) An object, act, or event that conveys meaning to others

(D) A narrative based on true events that is repeated frequently and shared by organizational
employees

The assumption that “If it’s not illegal, it must be ethical,” ignores which of the following?

(A) Domain of codified law (B) Domain of ethics

(C) Domain of free choice (D) Discretionary responsibility

Approximately what proportion of the global land surface is used for agriculture and

grazing by the world’s 6 billion people?

(A) Three quarters ' (B) One tenth

(C) One third (D) One eightieth
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80.

81.

82.

83.

84.

85.

86.

87.

Which of the following is not a reason for more optimism that humans are not heading into

an environmental Armageddon in the future?

(A) People are beginning to accept the significance of human-environment relationships and
international collaboration to curb environmental problems is beginning

(B) The technology for alternative sources of energy (other than fossil fuels) has been developed

and is only waiting for the appropriate economic conditions for widespread implementation
(C) Environmental science now has a much greater understanding of the impacts of human activities
and the response of environmental systems
(D) The development of genetic modification technology is allowing humans to engineer their own
resources no matter what the environmental conditions are

‘Focus Product’ and ‘Focus Market’ are the two schemes introduced related to :
(A} Industrial Diversification (B) Techxiology Upgradation

(C) Export Promotion (D) Control of Inflation

UNDP has introduced a new poverty index known as :

(A) Human Poverty Index . (B) Poorest among Poor Index -

(C) Social Poverty Index (D) Multi-dimensional Poverty Index
To which community/organization maximum goods are exported from India ?
(A) EEC (B) Commonwealth nation

(C) SAFTA (D) OPEC

For National Manufacturing and Investment Zones (NMIZ), Special Economic Zone (SEZ)
and EOUs (Exports-Oriented Units), which of the following statement is true ?

(A) NMIZs and EOUs will be located within SEZs

(B) SEZs and EOUs will be located within NMIZs

(C) NMIZs are independent of SEZs and EOUs

(D) NMIZs and SEZs will be competitors in nature.

Hedging and speculation in forex markets : .

(A) Are opposite activities (B) Parallel activities

(C) Same activities (D) All of the above

On the recommendation of which of the following committees the National Bank for
Agriculture and Rural Development (NABARD) has been releasing money of the Centre’s
share of recapitalization assistance to the primary agriculture credit societies (PACS) in various
states to introduce cooperative reforms?

(A) N R Narayanmurthy Committee (B) Prof A. Vaidyanathan Committee
(C) K Madhav Das Committee (D) R Gandhi Committee
Which of the following is/are correct about the problems of Indian Agriculture ?

1. Large agricultural subsidies are hampering productivity—enhancing investments.

2. Irrigation infrastructure is in bad shape and needs immediate improvement.

3. Frequent takeovers of fertile land by private companies and multinationals to launch big
business complexes.

{A) Only ! (B) Only I and 2

(C) Only 1 and 3 (D) All1,2and 3
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88.

89.

90.

91.

92.

Which of the following schemes launched by the Govt. of India aims at enhancing the livelihood
security of the people in rural areas by guaranteeing hundred days of employment in a financial
year to a rural household whose adult members volunteer to do unskilled manual work?
(A) TRYSEM (B) Pradhan Mantri Gram Sadak Yojana

(C) Kutir Jyoti Scheme (D) MGNREGA

Which of these refers to procedural justice?

(A) The concept that different treatment of people should not be based on arbitrary characteristics

'(B) The concept that rules should be clearly stated and consistently and impartially enforced

(C) The concept that individuals should be compensated for the cost of their injuries by the party
responsible

(D) The concept that people should be treated differently
One of the first characteristics or points of a successful business plan is :

'(A) a profile of potential customers and market needs.

(B) a description of the business and why it is unique.

(C) the key ingredient of the business that will attract million of customers.
(D) the entrepreneur’s background and role in the company.

Common refrigerant used in fridges and cold storages :

{A) Neon : (B) Freon
(C) Crypton (D) Argon
“No food and/or drinks in the classroom™ is an example of a :
~ (A) procedure. (B) rule.
(C) policy. (D) single-use plan.

93.

94.

9s.

The Govt. of India recently gave its clearance to the new Agriculture scheme which will
provide additional central assistance to the agriculture sector. What is/are the main points of
this scheme ? '

1. Public Investment in agriculture sector will be banned.

2. Govt. will help state govts. to achieve the targeted growth rates in agriculture sector.
3. State Govt. will get Rs. 40,000 crores to provide subsidy to agriculture sector.

(A) Only 1 is correct (B) Only 2 is correct

(C) Only 3 is correct ' (D) Both 1 and 2 are correct

What is force field analysis?

(A) The analysis of the forces that drive customers to a certain organization

(B) The analysis of the forces that drive the organization of a company

(C) The process of determining which forces drive and which resist a proposed change

(D) The process by which an organization forces changes to occur

The strategic approach to human resource management recognizes key elements. Which of
the following is NOT an ingredient in successful human resource management?

(A) All managers are human resource managers.

(B) Employees are viewed as assets.

(C) Human resource management is a matching process

(D) Only top-line managers are predominantly human resource managers.
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96.

97.

98.

99.

100.

The Govt. of India is making special efforts to help the farmer community in the country as
they are in distress and demand special attention from all of us.

Which of the following is correct in this regard ?

1. Govt. of India has announced a substantial hike in minimum support price of wheat for
Rabi season.

2. Arelief package is announced for the Sugar Industry.

3. All farmers are being given a cash assistance of Rs. 5 lakhs to make them comfortable

financially.
(A) Only 1 (B) Only2
(C) Bothland 2 (D) Only 3
Which of the following statements best summarizes the law of effect?
(A) All behaviors have consequences. (B) Positively reinforced behavior tends to be
repeated.
(C) Your behavior will influence others. (D) Negatively reinforced behavior tends to

be repeated.
is a financial budget that estimates cash flows on a daily basis or weekly basis to

ensure that the company can meet its obligations.

(A) Capital expenditure budget (B) Balance sheet budget
(C) Cash budget (D) Revenue budget
______refers to funding activities with borrowed money.

(A) ROA (B) Leverage

(C) Liquidity (D) Profitability

Al of the following are characteristic of transition economies EXCEPT
(A) infrastructure shortages. (B) capital shortages.

(C) well-defined buyer preferences. (D) poor warehousing.
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